. Vocabulary
Factor
Year 4 Mixed _ Factors factor pair
Multiplication and Division B multiply product
o oo oo 3 X 50nes = 15 ones divid IOtsdqf'd'
- vide viding
A factor is a number that divides into another number exactly, Th | H T e 33883 15 share equally
without leaving a remainder. 7 3 remainder array
3 X 5tens = 15 tens 10 times the size of
28 x 1 14 X 2 Th H T o 00000 base 10
Multiplying = 00000 10 tenth  hundredth
e by 10 and 7 8 0 7810 =780 ©0000 ) partitil(;n *
100 .
Ih i I ! @@ Q @Q 3 X 5 hundreds = 15 hundreds Shlort multlpllcatlort1
71 8| 010 78 x 100 = 7,800 000006 — 1500 column represen
00000 ' exchange
4x7 1) To multiply a number by 10Jeach digit moves erftf.ltc.lent
1 | to the left on a place value grid. .pa ! |on_||jg .
28 has _3 factor pairs. flexible partitioning
251 x 3 =753
28 has _6__ factors altogether. 2) To multiply a number by 100 each digit moves 576« 4 = 144 - - F
- to the left on a place value grid. ¥ = - ° OOQO ooo
[ 5%4=20 | HIT O © 9c%|%%
1) To divide a number by 10Jeach digit moves 00 | 0000 251 ) OOOO 0060
; ; ! ; i to the right on a place value grid. 00O X 3 o 00 oooo
/\ oo (0000 775 3 o 0
1
(1])(2) (ﬂ) (10] (20) 2) To divide a number by 100 each digit moves o0 880 ) :
Th;f:‘?':gfﬁ% 1, [ 111 1] to the right on a place value grid. 00 100440+ 4 = 142
The factor pairs are: m ©
There are 69 tennis balls packed in
.. 7 0 0 0 tubes Of 3. 69 o 3 — 23 Tens Ones
4 Th H T — the
ee oo There are 23 tubes altogether. —
o0 4 7 0 0 47,000+ 10 = 4,700 23 PR cew
o0
69 —
2xs=[10] 2xs=[10] L0 L - . . 3] 69 —
4 7 0 47,000 100 = 470 )
2x2xs5=2x[10 =[] QY e iy s




Factor
pairs

A factor is a number that divides into another number exactly,

without leaving a remainder.

Year 3 Mixed Multiplication
and Division B

Multiplying
by 10 and

o0
2><5= 2x5=

F

28 has _3 _factor pairs.

28 has _6__factors altogether.

100 2x2x5=2x=
7 8
o [ n [ 7 [HCH
7 8 0 78 x 10 = 780
0 o
7 8 0 0 78 x 100 = 7,800

X
nm
The 20are 1, P8BS
el —
The factor pairs are: o0800

[1and 20 | 2and 10 | 4 and 5 |

( seamg )

1) To multiply a number by 10]each digit moves
to the left on a place value grid.

2) To multiply a number by 100 each digit moves

to the left on a place value grid.

® 31X3=093

_3 tens multiplied by _3 is equal to _90
_1 one multiplied by _3 isequalto_3_
31 multiplied by _3 is equal to 93

remainder
10 times the size of

tenth

flexible partitioning

divide

column

Vocabulary

lots of

share equally

base 10

partition

short multiplication
represent

exchange
efficient
partitioning

dividing

Factors factor pair
multiply product

array

hundredth

ooooo 3 X 5ones = 15 ones
00000 =15
00000

OO0OOOQ 3x5tens= 15tens
QOO0 =150
OO000

eo@@@ 3 X 5 hundreds = 15 hundreds
elslelele = 1,500
00000

[ianaaaannn 5] 4 | 8 | &
[Faaaaaaa B

= .
W

(

Remainders

73 + 3 = 24 remainder 1

00 0000

O(JQ Teddy has 3 snowballs.
OQC} OO(:) Alex has 6 snowballs.

¥

2xX3=6

Alex has 2 times as many snowballs as Teddy.

1) To divide a number by 1[0Jeach digit moves
to the right on a place value grid.

2) To divide a number by 100 each digit moves
to the right on a place value grid.
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< Division with exchange >

00 0000

00 0000

(e —




Measuring

Length

Year 3 and 4 Mixed (Page 1)
Length and Perimeter

5cm

5mm

< Equivalent lengths >

Equivalent lengths

Equal lengths

1m=100cm

4 m=400cm

100 cm |100 cm {100 cm | 100 cm

l1cm =10 mm 4cm= 40 mm

10mm = 1cm

200cm= 2m

100 cm|100 cm

150cm=1%m

10 mm |10 mm (10 mm | 10 mm

20mm= 2cm

Perimeter is the total length around the edge
of a 2-D shape.

L

The perimeter
of the rectangle
is 22 cm.

|IIII|I1\\I\\I|IIII|\\‘\LI!IIIIF\\H\1IIII|I\‘IHFlllll\\\‘II|IIIT\\\\HIlllllp\‘\\'IIlIU\\\‘IIII|II‘H\\Frll'H‘\I|IIIIr1H\\\1IIII|II‘H'Illq\\\‘\lI|III1\\\HIlllll!\‘\ﬂlllll\\H\rIII|III‘\H\FIlIIIIH‘HI|IIII|

cm

70 mm 5 mm

N
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01 2 3 % 5 6 7 8 9 10M11271T 111177 1819 2

5

The lineis 75 mm long.

|IIII|IIII|]||I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II|I|IIII|IIII||III|IIII|III||I|II|IIII|IIII|IIII|IIII|II|I|||I||II]||IIII|IIII|IIII|IIII|IIII|
10 11 12 13 14

cm

15

10 mm |10 mm

What is the length of the bar?

I The bar is 8 cm long.

||H||II[I|IIII||II|||III[|\III|IIU|IIII|IIII||III|IIII[II|||I|II||III¥I]II|IIIIFIII||II|II|||III|IHI|IIII¥IIII|||\]|IIIIUIII|III\||III||II|I[]||
4 9 10 11 12 13 14 15
1
I

0o 1 2 3 4 5 6 7
om

: The bar is 80 mm long.
]

What is the perimeter of the rectangle?
2cm

Opposite sides of a 6 cm

rectangle are equal.

{The perimeter is 16 cm.]

6cm +2cm +6cm +2cm =16cm

|IIIILIIIIlII\I|IIIIvIII|II\\lIIII|HII|III\]IIIIlIH\|IIII|III|IHI|IIII[\\II IIIUIIIlIIH|IIIIlHII|III\]IIII|I]II|IIII]IIIIlIH\|IIII|III|III|

0 10 20 30 40 S0 60 70 8p 90 100 110 120 130 140 150
mm

8cm =80 mm

What is the perimeter of the square?

6m

Thelineis > cmand_© mm long.

Walmsl E. P hool
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There are 10 millimetres jn one centimetre,

6mx4=24m

Do you need to measure

There are 100 centimetres in one

metre .

all of the sides?

em+b6m+6m+6m=24m

Vocabulary
Metres m
centimetres cm
millimetres
mm kilometres
km length
long height
measurement
unit of measure
compare
add subtract
perimeter
sides
width
rectilinear
regular
polygon
irregular




Measure in
Kilometres and
metres
kilometres  (km)
metres (m)
centimetres (cm)
millimetres  (mm)

Which unit would you use to measure each item?

Kilometres Metres Centimetres
Distance .
Height of a Length of a
between .
. house pencil case
two cities

1 2 3 4 5 6 7

8

kilometres

9 10

0
I 1 | | | ] |
0

1,000 2,000 3,000 4,000 5,000 6,000 7,000 8,000 9,000 10,000

1km =1,000 m
10 kmm = 10,000 m

metres

Year 3 and 4 Mixed (Page 2)
Length and Perimeter

Perimeter
or
rectilinear
shapes

What is the perimeter of the shape?

Lem
lcm I 2cm
]
3am
ol Benr
B
||
Senm

Work out the perimeter of the rectilinear shape.

A rectilinear
shape has
straight sides
that meet at

right angles.

[2cm+3cm}+[3cm+2cm}+5cm+5cm =20cm

Eachsideis 8

cm.

There are _4 _sides, so the perimeter of the
polygonis _4 X _8 cm=_32 cm

8cm

A polygon is a closed
shape made of
straight lines

There are 1,000 metres in 1 kilometre.

v\'falmslcy C.E. Primary School
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250 m
500 m

750 m| 1,000 m

What is the perimeter of the regular polygon?

Scm ﬁm

5cm/ \'jcm
SCR %cm

5cm

{ 7X5cm=35cm }>

Regular polygons

All sides are
equal in length.

All angles are
equal in size.




Denominator
How many equal
parts are there?

are we looking at? @

AOGOO

Numerator
~
How many parts of the shapes are triangles.

Year 3 and 4 Mixed
Fractions A (page 1)

1.
3 is shaded

The shape is split
into_3 equal parts.

The denominatoris _3

The fraction that is
shaded is 1

% is shaded

[

The shape is split
into_5 equal parts.

The denominatoris 5

The fraction that is
shadedis 1

Bl
(ST
~N-
(6 15

What do you notice?

When the numerators are the same,

the greater the denominator, the _smaller the

fraction.

Bl
Bl=
Bl
Bl

Wl

Nl

ENT

When the numerator and the denominator are
the same, the fraction is equal to one whole.

1 ,1_3 3 _
+§+§—§ 3 1 whole
1.2 g=1whole
t3537 2
1,1,1_4 [4_
+z3+3+357 |z 1 whole

What fraction of the shape is shaded?

Non unit
fractions

2
3 is shaded

There are 3 equal parts.
So the denominatoris _3_
_ 2 of the equal parts are shaded.
So the numeratoris 2

The fraction that is shaded is
3

5
The fraction that is shaded is —
6
52 3% Vocabulary
) T Whole
__mmmmsll Es divided equal
parts
What do you notice? denominator
When the denominators are the same, numerator
the Breater the numerator, the greater the unit fractions
fraction. non-unit
fractions
mixed
Fractions on numbers
PREE partitioning
number line
The number line has been splitinto _4 _ equal parts. interval
1 5 3 greater
0 4 4 a 1 integer
I | | [ | ;
| | | | | Improper
fraction
. equivalent
4
g

Each interval is worth%

Walmsley C.E. Pni hool
,m:z.mmﬂm&m




@ Understanding the Year 3 and 4 Mixed Comparing Mixed
whole - Numbers
Fractions (page 2)
The whole has been divided Which fraction is smaller, 1% or 1 % ?

into_8  equal parts.

What fraction of the shape is shaded? 3
What fraction of the shape is shaded? 10 >
10
What fraction of the shape is not shaded? )

The whole of the shape is shaded. 5

If the numerator and denominator are equal, it is

1
Each part is worth 3

equal to a whole. E.g. §= 1 or ;= 1

Mixed
Numbers 1 1 @ 1

B
Blw

E % E % % % A mixed number is a whole
E % E % % % number and a proper fraction.
6 6]

I

%%%%%%%%%%% There are 2 wholes.

1.2.3.4.5.6_.7.8_.9 5 5 can be partitioned into _5_ wholes and 7]
0 1 115 11016 110 116 10 16 110 110 2 There are % /
- s
0 1 2 3 4 5 6 7 8 9 10 Them|xednumber|s2§

E E ﬁ ﬁ ﬁ ﬁ E ﬁ ﬁ E ﬁ w?\hlmslcyC.E.anlrySChool
o
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Improper
fractions

Year 3 and 4 Mixed
Fractions (page 3)

)

An improper fraction is a fraction that has a
numerator that is greater than or equal to the
denominator.

Convert mixed numbers
to improper fractions

( )

The integer in the mixed numberis 2
This is equivalentto 12 sixths.

There are __3  more sixths.

_12 sixths 4+ __3 sixths = _15 sixths

15
so the improper fractionis _ g

=1who|e
=2who|es
12
=3who|es
1 2 3 4 5 1.2.,3 .4.5
O 555556 Llglglglsgls 2
I R TR T N NN N NN I N A
I T T I N T I I I
o1 23 456 7 8 9 1011 12
6 6 6 6 6 6 6 6 6 6 6 6

S

There are _2 groups of 3 thirds.

Thereis _ 1 third remaining.

As a mixed number, this is

1

equivalent

“of equal value, amount or meaning’

5

,Q?QQ are equivalentto | ¢y

3+3 541

is equivalent to

10 mm

l1cm is equivalent to

)

Equivalent
fractions
1_4 8 2
3712 1273
0 1 2 1
3 3
[ || [ || ||
[ 1 ] [ 1 ]
01 2 3|4|/5 6 7|89 10111
DRRRLRE RRTELER

N =

N[ =

Bl

Bl

Bl

Bl

| =

=

(1

| =

Q| =

| =

0o =

00| =

00| =

o] &
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] < Measure mass in grams >
Using scales Year 3 and Year 4 Mixed (g) and kilograms (ke) Vocabulary
_ ‘ Mass
Mass and Capacity (page 1) A grams g
kilograms kg
0 10 20 30 40 50 60 70 80 90 100 _ equal parts
number line
The start of the number lineis _0 mt_erval
equivalent
The end of the number line is 100 heavier
" " ‘ lighter
There are _10 intervals. What is the mass o
2 kgand 100 g 4 kgand 800 g add subtract
the football? = — — total
The number line is counting up in _10 s, difference
The mass of the 100g x 10 =1,000 ¢ tf/
: Capacdi
100 = 10 = 10 football is 300 g. oo volume
1009'10:)3 ilili
o 1009 W 1009 W] mililitres ml
What number is the arrow pointing to? - 1003!100 a W00 W8 lit |
100 9'100 9'100 9'1009 _I res
' I interval
Attt scale
Og 100g 200g 300g 400g 500g 600g 700g 800g 900¢g 1,000 g . . artition
0 25 50 ) 100 1,000 g is equivalent to 1 kg P
The start of the number line is _0 What is the mass of Addingand
subtractingmass
The end of the number line is 100 the box? -
Thereare 4 intervals. 30g What is total mass of the tractor and the parcel?
P One blue box is _heavier than one yellow box.
The number line is counting up in_25 s, The start point is 0 g.
The end point is 50 g.
100 - 4 = 25

There are 5 intervals.

The scale is going up in 10s.

3kgis_lighter than 6 kg.
50+5=10

2kg+1kg=3kg 600g+300g=900g

v\'{almslcy C.E. Primary School
Where gotting beticr never stops

3 kg +900g =3 kgand900g




< Volume and > Year 3 and Year 4 Mixed _

Capacity j
Mass and CapaCIty (page 2) Which jug has the greatest capacity?
Which jug has the greatest volume of water?
Equipment we use to measure volume and ;
_ < Measuring Volume > ] 2 e
capacity. and Capacity

—

> L= T What is the volume of water .
— . P 1 litre
@/ w— in the jug? 400 m|
Rl —

::: The scale has been splitinto
10 equal parts, so each

Wl —
interval represents 100 ml. 1 litre 200 ml < 1 litre 400 ml

3 litres

s

2 litres

§

a\
I

1 litre

[

g
1

Bl —
Bl —
ol —

Add and Subtract Volume
1,000 ml k and Capacity

E

We measure liquid in litres and millilitres. || om 100 200 300 400 soomieo0 700 800 900 1litre A y B y
I 1Litre ——— 1Litre ————
Milli means thousandth. — —
What is the volume of water in - -
. _ this jug? 1 litre and 300 m| — —
There are 1,000 millimetres in 1 metre. soom —— soom

\There are 1,000 millilitres in 1 litre. — 300 ml = 600 ml
L . 1,000 + 10 = 100 The water from jug A is poured into jug B.
1’000 ml = 1 litre How much water will be in jug B? 900 ml

1 litre = 1,000 ml

- 300 + 600 = 900 ml

T T
1litre 100 200 300 400 500 600 700 800 900 2 litres

vw‘\lmslcy C.E. Primary School
Where gotting beticr never stops




1 Vocabulary
e Year 3 and Year 4 Mixed 1 9 _3_ 18 whole equal parts
fractions : 10 10 10
and mixed Fractions B

numbers

< Subtracting fractions >

denominator
numerator

unit fractions

non-unit fractions

mixed numbers
partitioning
6 4 2 improper fraction
87878 ade
e e subtract
4_,-.4 divide
2 7 1=1 7
L 2.3_,5 B
6 6 6 Tof26=6
9 2 7 [0e00000j0ooooojovrres0veo0d)
10 10 10 3of 12=24
! ! [@@0000 [ ©®@e00e [ @@ 0000 |
When | subtract a whole number from a >
mixed number, the fraction stays the same. 5 of 40=16
I ? I O % %
1 1
Numerator
w m u Subtract 2 _
3 <,'j Lo pubtract 2 of [36]=24
are needed?
—_— I I whole
<f‘ Denominator
8 How many 36
equal parts are in One whole |
the whole?
- 3.3 12 12 12
. . 4
When addlng or su btraCtIng The whole is divided into _ 3 equal parts. E Y 1
. . - 24
fractions, the denominators must 1= 24+2=12  12x3=36
be the Sa me. When the numerator and the denominator are 5_2 Walmsley C.E. Pri School
_— _ almsley C.E. Primary 00!
the same, the fraction is equal to 1 whole. 8 8 v Where getting bemer aever Mops




